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LM 2/17 k% HIB I R RE: 726 OUT IN #Ox HCP +v bk f&= |
7 * EIB B 44 39 8 120 T71.0
87 * BA M3t 49 47 9% 22.8 73.2
316 * Faf%R BT 49 45 94 204  73.6
91 Bk BE 47 54 101 26.4  74.6
2% 2/17 K& EIB AL+ v REH T3 OUT IN 4Bx HDCP ®v bk f&E
2 % &K BH—ER 48 46 94 216  72.4
47 * Hig B 41 45 8 13.2 72.8
96 * Tp#t 47 45 92 18.0 74.0
L3 2/10 fKE Il 5 B Ry REE 734 OUT IN #'BX HDCP *v bk {EE
82 * /A WL 43 44 81 156 1.4
78 * s HA 44 42 86 12.0 740
328 * TEM fMT 49 51 100 25.2 74.8
3wl ik 47 41 88 12.0 76.0
| A 3/14 k% HIE B Ry REE: 735 OUT IN #'BX HDCP *v k f&%E
97 * &K B—ER 48 39 87 156 71.4
13 * e %= 51 52 103 28.8 742
08 * EUE B 41 46 87 120 75.0
318  LE mEE 55 59 114 31.2 82.8
|\ BfL 2/22 fk%k Wit BF KRy REE: 73.6 T IN 4Bx HDCP (v f&E
100 * HHE & 43 53 96 252  70.8
69 * SEE X 52 48 100 26.4 73.6
365 * (U f2F 47 51 98 21.6  76.4
57 IRA T 54 44 98 156  82.4
| 6ff 3/24 ft%k WLt FOK KRy RE 737 OUT IN #Bx HDCP *v bk f&E
24 * 1748 479R 49 43 92 21.6  70.4
162 * &K H—ER 46 48 94 204  73.6
100 * (Lt F0k 44 50 94 16.8  77.2
12 A #£= 53 49 102 20.4 81.6
| THL 3/30 K& HEF AT rv b T4 oUT IN 4Bx HDCP *®v b fEE
150 * 18 EXZ 44 44 88 156  72.4
347 * AN BT 42 48 90 16.8  73.2
103 * &3 F=ik 43 54 97 204  76.6
165 #%H XB 53 48 101 240 71.0
L8 1/17 K&k =87 KRB+ hE 741 OUT IN O HICP v bk f&&
21 * QB =X 42 48 90 16.8  73.2
33 * =1F K9 45 44 89 156  73.4
347 * Eth T 44 45 89 13.2 75.8
90 EH K 51 52 103 25.2 77.8
L ofi 1/5 £tk RO $wtE Ry REE 747 OUT IN 4#BX HDCP =+ &=
131 % thay 45 50 95 22.8 722
98 * A{RE W 56 50 106 31.2  74.8
78 * RO #Hth 44 44 88 10.8  77.2
13 H& 8% 60 48 108 30.0 78.0
| 10fL 3/18 Rk fERAK E FRv bt 747 OUT IN 4BX HDCP *®w bk f&E
2 % kAR &= 43 49 92 216 70.4
363 * kAKX HIE 48 51 99 240 750
367 * ERA EBF 47 46 93 144  78.6
| 114Z 3/10 k% BT 8hZ kv it 74.8 OUT IN 48X HDGP *w bk {&E
161 * #85T 1ES 44 44 88 16.8  T71.2

98 * #%F 1899 41 43 84 8.4 75.6
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| 114 3/10 k& BT 8hz  Fv it 74.8 OUT IN Bx HGP *w b (&= |
33 x BT 3hZ 44 48 92 14.4 T1.6
3 A mx 45 44 89 9.6 79.4
12 1/5 K& B BB v i 75 T IN 4Bx HDCP *v b {&%E |
68 * FFf S 47 46 93 20.4 2.6
28 * /MK ZREE 43 46 89 13.2 75.8
104 *+ BE & 49 47 96 18.0 78.0
118 HE 58 47 49 96 18.0 78.0
136 3/13 K&k BA Wi kv RE TS OUT IN FBx HDCP vy (EE
66 * B %7 45 44 89 156 73.4
170 * AR 3 47 48 95 19.2 75.8
30 * WM 3hZ 47 50 97 19.2 71.8
1461 3/24 fv%k FE ki Ry R TS OUT IN #BX HDCP ®v bk f&&E
137 = il & 49 43 92 16.8 75.2
6 * JI#E 27l 45 41 86 10.8 75.2
348 * L3t EHF 42 47 89 120 71.0
72 A X 51 50 101 22.8 78.2
| 15fL 3/29 fkk it BEEHE kv bEH 75 OUT IN 4BX HDCP *wv bk f&E
53 * it BE 58 49 107 33.6 73.4
147 x BRE £% 48 56 104 28.8 75.2
26 * RiE EH 53 51 104 252 78.8
167  \K E— 50 48 98 19.2 78.8
| 16f 3/8 K& BE Hak Fv kit 76 OUT IN #OR HDCP *vw bk f&=E
44 x fhHF TE 40 38 78 6.0 720
12 % EE Hih 44 48 92 144 71.6
84 x KT FHH 50 52 102 22.8 79.2
49 HMH BEA 44 44 88 8.4 9.6
1T 3/12 K&k ENI HAh + v REH 76 0T IN #'BX HDCP *v bk &%
279 * EJI| %3k 43 48 91 16.8  74.2
329 x LEp gL 50 51 101 26.4 74.6
68 * EHE X7 51 50 101 20.4 80.6
96 HiE —= 42 51 93 120 81.0
184 3/10 vk deAt J\BR F v REH: 76 T IN 4@z HDCP *w bk f&E
21 * 18K Bk 47 50 97 22.8 742
167 * &K H# 49 50 99 21.6 77.4
74 * dEF J\BR 49 48 97 19.2 71.8
1 g 8k 60 52 112 240 88.0
| 19f 3/13 KE FE &R v R T6. OUT IN £#'BmX HDCP vk f&E
355 * [ AZEF 52 50 102 26.4 75.6
10 * FH HEiE 48 53 101 240 77.0
74 x K RE 54 50 104 26.4 71.6
42 FE KSR 45 44 89 9.6 79.4
0% 3/18 vk EH B kv LE 76 OUT IN 4#BX HDCP =+ bk &=
56 * £ 15 54 49 103 28.8 74.2
51 * KiF 35k 49 49 98 228 752
76 * HEth & 55 51 106 25.2  80.8
36 EH B 44 54 98 13.2 848
L 21fE 2/22 k& U1 BB kv it 76 oUT IN 4Bx HDCP *®w b fEE
65 * Y& #f 43 45 88 120 76.0
70 * =4 3% 55 53 108 31.2 76.8
355 * PR EIE 59 53 112 34.8 771.2
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2 2/22 K&K PIFE B B Ry bE: 76.7 UT IN OR HCP *v b f&% |
361 1 Hi 66 66 132 36.0 96.0
2% 2/21 k& B BFE v i 76.9 OUT IN Bx HGP *wv b (&= |
157 * AKX BE 49 54 103 27.6 75.4
141 x 1K RF¥ 50 49 99 21.6 77.4
76 x g EE 56 52 108 30.0 78.0
63 FA A 54 47 101 22.8  78.2
| 23 3/25 K&K BRER == F v hEt: 76.9 0T IN #'BX HDCP *v k &%
67 * BRER —=% 41 47 88 13.2 748
339 * #E R 53 47 100 22.8 77.2
144 * i HE 49 56 105 26.4 78.6
| 2 3/15 KRR AR £ v bEh: 772 OUT IN #'BX HDCP *v k &%
104 x 8K £% 51 48 99 240 750
154 * Il #A 60 54 114 36.0 78.0
139 * &Il e 51 60 111 324 78.6
251 3/21 Kk & AEH wv b 774 oUT IN BX HDCP ®vw bk f&E
43 x ER B 49 50 99 22.8 76.2
83 * lizR 54 50 104 26.4 77.6
88 * & EE 55 51 106 27.6  78.4
28 FIA EA 54 59 113 28.8  84.2
| 26h 3/25 K&k Bl AEXF v hEh: 715 T IN #'BX HDCP *v k &%
323 * [ AEF 43 50 93 16.8  76.2
31 * §eh HiE 52 57 109 31.2 77.8
168 * LM 42 54 51 105 26.4 78.6
355 S HF 62 67 129 36.0 93.0
| 27f% 3/30 K&k T# &Rl v REH T77.9 T IN Bx HCP *w b f&E
212 * T# &7 44 45 89 13.2 758
162 * /ML FE] 41 46 87 8.4 786
107 * /b EA 56 57 113 33.6 79.4
207 fFEE A 53 52 105 25.2  79.8
| 28fr 1/5 k& EHH B v b 779 T IN #'BX HDCP *vk &%
22 x HME & 49 48 97 21.6 75.4
96 * HHE E= 44 42 86 7.2 78.8
21 x B #E 51 55 106 26.4  79.6
41 =R R 55 52 107 26.4  80.6
20 1/5 &k Lt BAEE kv hEH: 78.3 oUT IN 4Bx HDCP #*w bk fEE
317 * L% 3% 46 52 98 20.4 T71.6
1o KW "2 47 59 106 27.6  78.4
208 * FEHN Ak 63 47 110 31.2 78.8
323 L% HEE 54 56 110 31.2 78.8
| 30fi 3/30 tkE Ak EE Ry RE: 71.9 T IN #BR HDCP *v bk f&E
167 * #ik E2 53 44 97 21.6 75.4
70 * T 4= 52 56 108 30.0  78.0
82 * FIB & 58 56 114 33.6  80.4
217 kF* K& 58 60 118 36.0 82.0
|3 3/17 vk EANI B kv i 783 OUT IN #BX HDCP #®v b f#E
32 * [RHE Eth 48 46 94 18.0  76.0
346 * FF B 53 55 108 28.8  79.2
57 * KA & 58 53 111 31.2  79.8

371 EE % 58 53 111 27.6 83.4
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3% 2/25 REFEAR W E Fv R 787 OUT IN BX HGP *wv b (&= |
23 x K W 48 49 97 20.4 766
98 * MK 15 54 56 110 32.4 77.6
93 * IBA A 54 52 106 24.0 82.0
33 1/14 K&K MR#E ==+ hEt: 78.8 OUT IN #'BX HDCP *v k &%
63 * fRE —=5 49 47 9 19.2 76.8
83 x JEHR 3 50 50 100 20.4  79.6
48 * thg IEBh 54 50 104 24.0  80.0
88 EBI EE 52 48 100 16.8  83.2
| 3Af 2/14 RERLEH BAE F v it 78.8 OUT IN 4Bx HDCP ®vy bk f&E
96 * HEE X7 48 45 93 156 77.4
316 * LT BhZE 50 48 98 20.4 71.6
326 * L¥F BEE 59 56 115 33.6  81.4
356 1/18 £k BHA A Ry bE 79.0 OUT IN #BX HDCP ®w bk f&&E
151 * AH #X 44 49 93 18.0 75.0
M x 58 8% 57 52 109 30.0 79.0
b * HFB N 50 60 119 36.0 83.0
14 IR XS 55 47 102 18.0  84.0
| 36fr 3/5 vk ME RSB kv it 79.0 OUT IN 4BX HDCP *wv bk &=
28 * B & 43 48 91 18.0 73.0
48 x BIE ME 50 52 102 240 78.0
67 * stE T 61 61 122 36.0 86.0
L %M Y2 RERBWMRE Fu b 791 T IN #'BX HDCP *v k &%
211 34 & 48 51 99 240 750
94 x 8RMA &4 50 51 101 22.8 78.2
62 * iy 63 57 120 36.0 840
201 WA - 62 68 130 36.0 94.0
38 3/24 K&k EAN B kv RE: 79.4 OUT IN #Bx HDCP #®vw bk {&EE
4 * B KA 50 50 100 24.0 76.0
9 x Hig FE 51 55 106 25.2  80.8
44 x R 8 60 55 115 33.6 81.4
| 39f 3/8 ft&k BH BAE FRv hEt: 79.6 OUT IN #BX HDCP *®v bk f&E
37 * X R 56 52 108 30.0 78.0
32 x AN MK 51 58 109 28.8  80.2
57 * HH @K 55 58 113 32.4  80.6
| 40f 3/25 fkk HH EH Ry REr: 80.3 OUT IN #'BX HDCP *®wk {#E
139 * Hf ZH 54 53 107 28.8 78.2
56 * ZERE B 48 53 101 21.6 79.4
204 x KB EE 49 56 105 21.6 83.4
349 AN REF 57 63 120 36.0 84.0
A 3/21 k%K thAR B kv FE 80.3 OUT IN #Ex HDCP v b &
94 x fiE BiE 50 50 100 22.8 77.2
130 * BRI #EM 54 53 107 25.2 81.8
205 * thk fE% 52 54 106 24.0 82.0
| d2fi 3/25 k& IBE BB v REH: 80.8 OUT IN £#'BmX HDCP vk f&E
51 = USHE B 49 52 101 22.8 78.2
63 * thE IE3A 49 58 107 252 81.8
149 * B —% 54 50 104 21.6  82.4
345 BAT kL& 60 56 116 30.0  86.0
4341 1/14 k& IBE B B kv FEH 819 oOUT IN 4Bx HDCP *®v b fEE
76 * A —K 48 48 96 16.8  79.2
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| 43 1/14 Rk IBEA B £ R bEH: 819 OUT IN 40X HDCP *w bk f&%E |
31 * At FF 59 54 113 31.2 81.8
36 * ZERE B 58 53 111 26.4  84.6
| AME 2/22 R E EW B Ry bEh: 821 OUT IN 4B HDCP v bk f&&E |
323 * & Eib 51 43 94 19.2  74.8
97 * T HE 43 44 81 9.6 714
333 * 3 bt 64 54 118 240 940
| 45f 3/24 k& AT 53 kv REH: 82,9 OUT IN 'Bx HDCP v bk {E#E
42 x % 1534 46 48 94 19.2  74.8
61 * EME Mty 61 60 121 36.0 850
30 * L & 64 61 125 36.0 89.0
10 7@m B 59 64 123 33.6 89.4
| 46hr 1/25 t&k FEEF Hth v REH 83.0 T IN 'BX HDCP * vk f&&E
70 * AR —i& 46 41 87 13.2 73.8
30 * BH Hith 44 44 88 10.8 T71.2
208 * )il 2 60 74 134 36.0 98.0



